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Subtraction word problems

Grade 2 Word Problems Worksheet

1. Mr. Greyson collected 122 eggs from his mini
farm on Monday, but 30 of them had cracks.
How many of the eggs can be delivered to the
markete

2.  Mr. Greyson has 150 laying hens and 73 roosters.
He collected eggs from 122 hens on Monday.
How many hens did not lay eggs on that day?

3. This week, Mr. Greyson collected 36 trays of eggs
and 22 bottles of milk. He sold 28 trays of eggs.
How many trays of eggs are left?
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4. Yesterday, Justin bought 13 more goats for his
farm. His farm now has 74 goats in total. How
many goats were there before yesterday?

5. Six months ago, Justin had 137 chicks. 75 of them
became hens, while 14 chicks did not survive,
and the rest became roosters. How many chicks
grew into roosters?

6. Mr. Greyson filled 62 buckets with feed. He
already gave 18 buckets of feed to the roosters,
and the rest are for the hens. How many more
buckets of feed do the hens get compared to
the roosters?
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Answers

1.

122 — 30 =92
Mr. Greyson has 92 eggs that can be delivered to the
market.

150 — 122 = 28
28 hens did not lay eggs on Monday.

36-28=8
There are 8 trays of eggs left.

74 -13 =61
Before yesterday, Justin had 61 goats.

137 —-75-14 =48
48 chicks grew into roosters.

62—-18=44

44 - 18 = 26

The hens get 26 more buckets of feed than the
roosters.
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